What is the meaning of
‘Place Value’?
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3 Tens | 5 Units

Thirty and Five / Thirty-five

In the number 35, we have 3 in
the tens place. If we open three !
+ tens bundles we get 50 units.

tens bundles we get 30 units.

That is why, the place value of !
i the place value of 5 is 50. In

3 in the number 35 1s 30. As 5

is in the units place; its place !
i whose place value is also 0.

value 1s 5.

5 0
5 Tens | O Units
Fifty and zero / Fifty

In the number 50, 5 is in the
tens place. When we open 5

Therefore, in the number 50,

the units place we have 0

Can you tell the value of each digit in the numbers shown below ?
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Tell the place value of each underlined digit.

18 | The place value of 1 is 10 as 1 is in the tens place.
23 | The place value of 3 is 3. as 3 is in the units place.
65 | The place value of 51s 5 as 5 1s in the units place.
72 | The place value of 7 is 70 as 7 1s in the tens place.

50 |The place value of O is[ | |  eereiennne,

40 | The place value of 4is[ || e,

88 | The place value of 8is[ | |  .eveeienen,

88 |The place value of 8is[ | | oo,

61 [The place value of 6is| ] | e

Now write the place value of each digit in the numbers given below.
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